EQUIPMENT ANCHORAGE AND SUPPORT NOTES

1. ANCHOR ALL CONDUITS, RACEWAY AND ELECTRICAL EQUIPMENT TO BUILDING STRUCTURE OR STRUCTURAL MEMBERS.

2. CONDUITS 1/2" TO 2": ATTACH TO STRUCTURE PER CALIFORNIA BUILDING CODE AND CALIFORNIA ELECTRICAL CODE
ATTACHMENT REQUIREMENTS.

3. CONDUITS 2 1/2" AND LARGER: ANCHOR TO STRUCTURE PER SPECIFICATION SECTION 16180.
4. ALL CONDUMS TO BE SUPPORTED AT 10 FEET ON CENTERS AND WITHIN FEET OF ENDS. |

McCarthy Building Companies, Inc.
343 Sansome Street, 14th Floor
San Francisco, California 94104

P 415 |364-1339

F 415 |397-5999

1/4" EXPANSION ANCHOR (TYP)

/-—- CONCRETE OVER METAL DECK (VERIFY)

BACKING PLATE: FOR ADDITIONAL REQUIREMENTS,
SEE ARCHITECTURAL DRAWING A9.2.4

BAR HANGER
/—]‘ P STUD (TYP)
}

[ WALL STUD (TYP) -
\ CADDY AB -
o HOOK 1 , #8 TEK SCREW (TYP)
T 12 ek o I ot A -
N MOUNT FIXTURE WALL BRACKET ASSEMBLY JUNCTION BOX AND
— TO BACKING PLATE PER FIXTURE PLASTER RING TO SUIT
S—HOOK J MANUFACTURER'S REQUIREMENTS <
\ " — CADDY LFC (MINIMUM #8 TEK SCREWS) MOUNT FIXTURE WALL BRACKET
/ \ | ASSEMBLY TO J-BOX PER FIXTURE
IT COORDINATE. FIXTURE. HEIGHT IN FIELD B gg@gsjgguisﬁs L\i%g? <H§EU§ES__’ MANUFACTURER'S REQUIREMENTS
WITH ARCHITECT. ALIGN THROUGHOUT (MINIMUM 2 SCREWS)
AS DIRECTED BY ARCHIECT (TYP)
INTERMEDIATE /END SUPPORT FEED-END SUPPORT
SUSPENDED CHAIN—HUNG FLUORESCENT WALL SURFACE MOUNTED FLUORESCENT
4" SQUARE OR 4 11/16" OUTLET BOX 4" SQUARE OR 4 11/16" OUTLET BOX
| o OR MULTI-GANG BOX
<y
METAL STUD(S
_— MEL STUD(S) _— s)
8 SHEET METAL SCREW(S P
L )'s ___—#8 SHEET METAL SCREW(S)

~~ CADDY #RBSnn SERIES
SIZE TO SUIT OR EQUAL

DEVICE GANG RING, TYPE AND ' I s
SIZE AS SHOWN OR TO SUI. e
FASTEN TO OUTLET BOX TO T
RENDER A COMPLETE SYSTEM.

DEVICE GANG RING, TYPE AND
SIZE AS SHOWN OR TO SUI.
FASTEN TO OUTLET BOX TO

RENDER A COMPLETE SYSTEM.

[V

_— TYPICAL

" S—-P PRODUCTS, INC. BIG "0" SERIES
SIZE T0 SulT

BACKING PLATE AT 4 CORNERS

FOR ADDITIONAL REQUIREMENTS, - BAR HANGER
SEE ARCHITECTURAL DRAWING A9.2.4 /

CEILING STUD OR
HAT CHANNEL

NS ’ S

o——+— LIGHTING FIXTURE LIGHTING FIXTURE ——

INTERMEDIATE /END SUPPORT

FEED—-END SUPPORT

g 2
1 BAR HANGER ASSEMBLY
4, CONDUIT CLIP(S) #
) CADDY #BHx SERIES
& \D\‘ BAR HANGER ASSEMBLY { AND RELATED 248 TEK ETAL SCREWS
(Z COMPONENTS. N
T BAR HANGER ASSEMBLY f =
T RETANER CLIP(S) I (T /e

=

3'-0" 0.C. MAX

METAL STUD —_|
"~ OUTLET BOX
J ° ‘GYPSUM BOARD
//N/ e, \«@N\N
. e R
METAL STUD(S)

g /—
CONDUIT CLIP

9—_—-—.—_

CADDY #BHX SERIES
AND RELATED

<

BAR RETAINER(S)—\
2

3'-0" 0.C. MAX

COMPONENTS

BAR HANGER ASSEMBLY

CONDUIT
.

OUTLET BOX. ATTACH TO SUPPORT

CEILING SURFACE MOUNTED FLUORESCENT

/——METAL DECK CONSTRUCTION

“"\/‘ FOI—

HILTI X—CCDNI
CEILING CLIP OR EQUAL

4 TURNS MIN. IN 1 1/2" (TYP)

#12 PRE-MOUNTED CEILING HANGER WIRE
(ONE PER FIXTURE)

LIGHTING FIXTURE
WEIGHT < 20 LBS

#8 SELF TAPPING SCREW OR
TIE WIRED TO CEILIN NEL

MOUNTING BRACKET

BAR HANGER ASSEMBLY

T
WALUT L1

=== [ CONSTRUCTION

—\— CONE AND TRIM

) }CE!LING

RECESSED DOWNLIGHT
GYPSUM BOARD CEILING

CABLE MANAGEMENT SYSTEM (CMS), SHOWN FOR CLARITY.
VERIFY IN FIELD AND/OR PROVIDE AS SHOWN OR REQUIRED.

NYLON THROAT BUSHING

t 6"

STUB CONDUIT IN ACCESSIBLE CEILING SPACE AND
TERMINATE WITHIN 6" OF CMS WITH NYLON THROAT
BUSHING. PROVIDE ONE CONDUIT PER OUTLET.
(CONNECTIONS FROM OUTLET TO OUTLET

(DAISY CHAIN) IS NOT PERMITTED.)

/— CEILING (WHERE OCCURS)

At 1 cONDUT WIH PULL STRNG

CEILING STUD OR
HAT CHANNEL

#8 TEK SCREW (TYP)

JUNCTION BOX AND
PLASTER RING TO SUIT

MOUNT FIXTURE- TO J-BOX PER FIXTURE
MANUFACTURER’'S REQUIREMENTS (MIN. 2 SCREWS)
USE END SUPPORT DETAIL FOR 2x2 AND

LARGER FIXTURES

IDENTIFICATION STAMP
Div. OF THE STATE ARCHITECT
OFFICE OF REGULATION SERVICE

PL. #:01-110097
0

, SN DM
A

FILE NUMBER:

ARRANGEMENT A

PROVIDE WHERE STUD(S) ARRANGEMENT ALLOWS

{RTex® (RTex®)

WITH 2{8 SHEET METAL SCREWS.

BOX SUPPORT BRACKET-CADDY #7SGB-16
ATTACH TO STUDS WITH 2#8 SHEET METAL
SCREWS AT EACH END.

ARRANGEMENT B

PROVIDE ONLY WHERE ARRANGEMENT ‘A’ IS
NOT AVAILABLE DUE TO SPATIAL CONSTRAINTS

>

4 11/16"
/—WHH 16 RING

A
¥

b

A
v

4 11/16"
WITH 26 RING ! ! /

4 11/16”
WITH 1G RING HORIZONTAL
FOR SURFACE RACEWAY FEED

I4WH <

<

RW

(©) Copyright 2008
ke
=
R
(]
@
(o))
@
o °
o O
- =
i j on
£
C o)
mq, @)
N o< >
G O =
wgm ‘Qg
mn_‘f—s Sg
o = g
C
(o B — >
@© v ©
OQVw ol
kI
]
o
| =4
£
=%
5
8
o
=
8
B2
g
Dl oof ©f ] &
= o O] 8 ©
S| &l § § &
zl o] o] x
EEE
°l 8 23
=z
4| E
4
ol
Ew
M}l &
Al e
UJZ
i BT
==
LLID
41 o
|58
$12lz
a e
5515 2
0231:
0lGlelE
BRI
81815151 =
2=t 212l <
218|888
Job. No. 300085
Date 09 APR 2009
Drawn by FF/AA
Checked by TS
Scale AS SHOWN

Pool Bldg. Electrical

Miscellaneous
Details

E10.05




